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वधᭅमान महावीर खुला िव᳡िव᳒ालय, कोटा 
रावतभाटा रोड , कोटा 324021 (राज᭭थान) 

आÛतǐरक मूãयांकन-2014 

बी.ए.पी.(कला मɅ èनातक हेत ुĤारंͧभक काय[Đम)           
(पाɫयĐम कोड: आई जी एच, आई जी  ई, आई एस  एस , आई जी  एस, ई एम टȣ) 

ͪĤय छाğ,  

बीएपी पाɫयĐम के ͪवͧभÛन Ĥæन पğɉ के सğीय काय[ का ͪववरण Ǔनàन है –  
Đ. स पाɫयĐम कोड 

 (Course Code) 
Ĥæन पğ का नाम  
(Name of Course) 

1. आईजीएच     सामाÛय Ǒहदंȣ का पǐरचय Introduction to General Hindi 

2. आईजी ई सामाÛय अंĒेजी का पǐरचय Introduction to General English 

3. आईएसएस       सामािजक ͪव£ान का पǐरचय Introduction to Social Science 

4. आईजी एस सामाÛय ͪव£ान का पǐरचय Introduction to General Science 

5.  ईएमटȣ Ĥारंͧभक गͨणत Elementary Mathematics 
आपको Ĥ×येक Ĥæन पğ के Ǒदए गए सğीय काय[ करने है। इÛहे पूरा करके Ǔनधा[ǐरत अंǓतम Ǔतͬथ से 
पूव[ अपने ¢ेğीय कɅ ġ/अÚययन कɅ ġ (जहा ँपर आपने Ĥवेश ͧलया है) पर èवयं अथवा पंजीकृत डाक से 
आवæयक Ǿप से ͧभजवा दे। Ĥ×येक सğीय काय[ 20 अंकɉ का है। इन ĤाÜतांको को सğातं परȣ¢ा के 
अंको मɅ जोड़ा जायेगा। सğीय काय[ èवयं कȧ हèतͧलͪप मɅ करे। सğीय कायȾ का पुन[मूãयांकन नहȣ ं
होता है  और न हȣ इÛहɅ सुधारने हेतु दबुारा èवीकार ͩकया जाता है। अतः आप एक बार मɅ हȣ सहȣ 
उƣर ͧलखे। संलÊन Ǔनधा[ǐरत Ĥपğ पर वांǓछत सूचना भरकर सğीय काय[ के साथ संलÊन करे। 

BAP (B.A. Preparatory) Examination-2014  (आÛतǐरक मूãयांकन) 
1. पाɫयĐम कोड (Course Code)........................................................   

2. पाɫयĐम का नाम .......................................................................... 

3. èकॉलर संÉया (Scholar No.)........................................................... 

4. छाğ का नाम  Name of Student (in capital letters)..................... 

5. ͪपता का नाम Name of Father (in capital letters)....................... 

6. पğ åयवहार का पता  Address for Corresponding............................ 

7. अÚययन कɅ ġ का नाम Name of Study Centre ............................... 

8. ¢ेğीय कɅ ġ (Regional Centre)............................................................... 
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सामाÆय िहÆदी (बीएपी) कायªøम पाठ्यøम हेतु आÆतåरक सýीय कायª 
सामाÆय िहÆदी (आईजीएच) 

अिधकतम अंक:-20 
नोटः- आतंåरक  मÐूयांकन हते ुÿĳ-पý ’अ’, ’ब’ और ’स’ इन तीन खÁडŌ म ेिवभािजत ह।ै ÿÂयेक खÁड के 
िनद¥शानसुार ÿĳŌ के उ°र दीिजए। 

खÁड अ 
अित लघु उ°र वाले ÿĳ (अिनवायª) 

नोट:-सभी ÿĳŌ के उ°र दीिजए। आप अपने  उ°र को एक शÊद , एक वा³य या अिधकतम 30 शÊदŌ म¤  
      पåरसीिमत कìिजए। ÿÂयेक ÿĳ 1 अकं  का ह।ै          1× 4 = 4 

अकं   
ÿ. 1 सं²ा कì पåरभाषा िलखते हòए उसके भेदŌ का नामोÐलेख कìिजए। 
ÿ. 2     ’नर हो न िनराश करो मन को’ किवता स ेहम¤ ³या िश±ा िमलती ह?ै 
ÿ. 3 गाँधी  जी स¸ची िश±ा िकस ेमानते थे ? 
ÿ. 4 ’’मचं  पर लड़का नाच रहा ह।ै’’ इस वा³य को वचन बदलकर पनुः िलिखए। 
 

खÁड ब 
लघु उ°र वाले ÿĳ 

नोटः-िनÌनिलिखत म¤ से िकÆही दो ÿĳŌ के उ°र दीिजए। आप अपन ेउ°र को अिधकतम 200 शÊदŌ म¤  
      पåरसीिमत कìिजए। ÿÂयेक ÿĳ 4 अकंŌ  का ह।ै 
1. िवराम िचĹ का अथª बताते हòए िवराम िचĹ के िविवध ÿकारŌ का उदाहरण सिहत उÐलेख कìिजए। 
2. ’ĂĶाचार: एक समÖया’ अथवा ’िव²ान: वरदान या अिभशाप’ इन दोनो म¤ से िकसी एक िवषय पर 

अनु̧ छेद िलिखए। 
3. ’बढ़ूी काकì’ कहानी के ľी पाýŌ का वणªन करते हòए बताइए िक बढ़ूी काकì Ĭारा जठून खाते देख łपा 

ने ³या ÿितिøया Óयĉ कì ? 
4. िवशेषण िकस ेकहते ह ै? िवशेषण के सभी भेदŌ कì पåरभाषा कम स ेकम पाचं उदाहरण देकर िलिखए । 

 
खÁड स 

दीघª उ°र वाले ÿĳ 

1× 8 = 8 अकं  
नोटः-िनÌनिलिखत म¤ से िकसी 01 ÿĳ का उ°र दीिजए। आप अपन े उ°र को अिधकतम 800 शÊदŌ म¤ 
पåरसीिमत कìिजए। ÿÂयेक ÿĳ 8 अकंŌ का ह।ै 
ÿ. 1  ÿेमचÆद Ĭारा रिचत कहानी ’बढ़ूी काकì’ कì कथावÖत ुका िवÖतार स ेवणªन करते हòए , इस कहानी का 

िववचेन कहानी के तÂवŌ के आधार पर कìिजए। 
ÿ. 2  पý लेखन का Öवłप और उसके िविवध ÿकारŌ का वणªन करते हòए िनÌनिलिखत सभी शीषªको पर पý 

िलिखए- 
(क) परी±ा म¤ सवō¸च अकं ÿाĮ करन ेके कारण िमý को बधाई पý। 
(ख) शÐुक मिुĉ (फìस माफ) हते ुिवīालय के ÿधानाचायª को ÿाथªना पý। 
(ग) अपन ेमौहÐले कì सफाई हते ुसÌबिÆधत अिधकारी को िशकायती पý। 
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Introduction to General English-IGE 
Note: The Internal Assignment has been divided into three sections A, B, and C. Write 
Answer as per the given instruction. 

Section-A (Very Short Answer Type Questions) 
Note: Answer all questions. As per the nature of the question you delimit your 
answer in one word, one sentence or maximum up to 30 words. Each question carries 
1mark.                                                                                                                   4x1=04 
1 Read the following passage carefully: 
Raksha Bandhan 
Raksha bandhan falls on Shravan Purnima.On this day, whosoever accepts a Rakhi Thread is 
protected from evil.According to one legend, in a battle that the gods were losing, in the court 
of Indra(God of war), his consort Indrani assured the gods that they would win the next day. 
She tied a Madadiyn on Indra’s wrist, a rakhi. And demons lost.A legend in Mahabharat 
says,Queen Kunti tied a rakhi on her grandson and Arjuna’s son Abhimanyu’s arm before the 
Kaurva and Pandavas battle.Years later, during Mughal rule, Rajputs queens would send 
rachis to brave Maharajas seeking protection. Apparently, a rajput queen sent a rakhi to 
Emperor Aurangzeb who had sent a huge army on her husband’s kingdom. Aurangzeb, 
moved by this gesture, decided to withdraw his forces and promised to protect his “sister”. 
Today, tying rakhi reinforces a bond that ensures the brother will protect and see to the 
welfare of his sister and ensure that no harm comes to her. In turn, the sister prays for the 
well being of her brother. 
Questions- 

i. When do we celebrate Raksha Bandhan? 
ii. Why demons lost the war? 

iii. During whose rule did queens sent rachis to the Maharajas? How did Aurangzeb 
protect his sister? 

iv. What is the significance of Rakhi today? 
Section-B  
(Short Answer Questions) 

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 
question carries 4 marks.                                                                             2x4=08 
2. Differentiate between conjunctions and sentence connectors. 
3. Define articles with reasons of usage and examples . 
4. Write a paragraph on any one of the following:- 
 i) Importance of reading Books 
 ii) Impact of watching Television 
5. Define Adverbs and Adjectives with examples. 

Section ‘C’ 
(Long Answer Questions) 

Note: Answer any one question. You have to delimit your each answer maximum up to 
800 words. The question carries 08 marks.     1x8=08 
6. Write a letter to Mayor of your city requesting to provide city bus facility within your city. 
7. Write a letter to your friend describing about your trip to Mount Abu and fun you had with 

your family. 
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Intrduction of Social  Science सामािजक ͪव£ान का पǐरचय- ISS 
                                                                                                                                                       Max. Marks : 20  
Note:- The Internal Assignment has been divided into three sections  A, B and  C. Write 
Answer as per the given  instructions . 
आंतǐरक मूãयाकंन हेतु Ĥæन पğ  “A”, “B” और  “C” तीन खंडɉ मɅ ͪवभािजत है | Ĥ×येक खÖड के 
Ǔनदȶशानसुार Ĥæनɉ का उƣर दȣिजये | 
                                                                     Section –A 
                                                 (Very Short Answer Type Questions)  
                          अǓत लघ ुउƣर वाले Ĥæन (अǓनवाय[)  
Note :- Answer  all questions . As per the nature of the question you delimit your answer  in 
one word , one sentence or maximum up to 30 words. Each question  carries  1 (one ) mark. 
नोट : सभी Ĥæनɉ का उƣर दȣिजए | आप अपने उƣर को Ĥæन के अनसुार एक शÞद , एक वाÈय या 
अͬधकतम  30 शÞदɉ मɅ पǐरसीͧमत कȧजीये | Ĥ×येक Ĥæन  1 (एक) अंक का है |  
                                                                                                                                                    4 x 1 = 04 
Q.1    Define Joint  Family System . 
          संयÈुत पǐरवार åयवèथा को पǐरभाͪषत कȧिजये | 
Q.2     Explain about  the elements of a State . 
          एक राÏय के त×वɉ के बारे मɅ बताइए | 
Q.3     Write the name of Father and Mother of  Mahaveer  Swami . 
           महावीर èवामी के ͪपता एव ंमाता का नाम बताइए | 
Q.4      Define   Economic Development .  
           आͬथ[क ͪवकास को पǐरभाͪषत कȧिजये | 

Section – B 
(Short Answer Questions) लघ ुउƣर वाले Ĥæन 

Note :- Answer any two questions . Each answer should be given in 200 words. Each 
question carries 4 marks . 
नोट :- Ǔनàनͧलͨखत मɅ से ͩकÛहȣं 02 Ĥæनɉ के उƣर दȣिजए | Ĥ×येक Ĥæन का उƣर 200 शÞदɉ मɅ दȣिजए | 
Ĥ×येक  Ĥæन 04 अंकɉ का है |                                                                                                         4 x 2 =8                             
Q.5       Explain the meaning  and characteristics of Social Chang . 
          सामािजक पǐरवत[न का अथ[ एव ंͪवशेषताएं बताइए | 
Q.6     Discuss the Central Problems of an Economy. 
           एक अथ[åयवèथा कȧ आधारभूत समèयाओं कȧ åयाÉया कȧिजये |  
Q.7     Write a note on Peasant Movements during the British Rule (1901 to 1947). 
          1901 से 1947 तक ǒĦǑटश शासन के दौरान ͩकसानɉ के आÛदोलन पर एक लेख ͧलͨखये |   
Q.8     Describe the Concept , Sources , Nature and Types of Authority .  
          सƣा कȧ अवधारणा,İोत,ĤकृǓत और Ĥकार कȧ ͪववेचना कȧिजये | 
                                                                  Section – C 
                                                        (Long Answer Questions) (दȣघ[ उƣर वाले Ĥæन) 
Note :- Answer any one  question. Each answer should be given in 800 words . Each question 
carries 08 marks.                                                                                           1 x 8 = 8 
नोट :- Ǔनàनͧलͨखत मɅ से ͩकसी 01 (एक )Ĥæन का उƣर दȣिजए | Ĥ×येक Ĥæन का उƣर 800 शÞदɉ मɅ 
दȣिजए  | Ĥ×येक Ĥæन 08 अंकɉ का है |  
Q.9      Discuss the role of Government in Economic Development. 
           आͬथ[क ͪवकास मɅ सरकार कȧ भूͧमका कȧ åयाÉया कȧिजये | 
Q.10    Write an essay on Urbanization . 
             नगरȣकरण पर एक Ǔनबधं ͧलͨखए | 
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Introduction of General Science  
सामाÛय ͪव£ान का पǐरचय-IGS 

                                                                          Max Marks: 20 
Note: The Internal Assignment has been divided into three sections A, B, and C. 
Write Answer as per the given instruction. 
आतंåरक मÐूयांकन हते ुÿĳ पý ‘A’,’B’ और ‘C’ तीन खÁडŌ म¤ िवभािजत ह|ै ÿÂयेक खÁड के िनद¥शानसुार 

ÿĳŌ का उ°र दीिजए|     
Section-A 

(Very Short Answer Type Questions)  
अित लघु ऊ°र वाले ÿĳ (अिनवायª) 

Note: Answer all questions. As per the nature of the question you delimit 
your answer in one word, one sentence or maximum up to 30 words. Each 
question carries one mark.    
                                                                                                                          
नोट: सभी ÿĳŌ का उ°र दीिजए| आप अपने उ°र को ÿĳानुसार एक शÊद , एक वा³य या अिधकतम 
30 शÊदŌ म¤ पåरसीिमत कìिजये| ÿÂयेक ÿĳ 1 अंक का है|                                             4x1=04  

1.   (i)     What is the Unit of Moment of Inertia? 
    जड़×व- आघूण[ का माğक Èया है ? 

    (ii)    Write down Ideal Gas Equation? 
            आदश[ गैस समीकरण ͧलͨखये |  
    (iii)    Who coined the term Ecosystem? 
            पाǐरतंğ शÞद ͩकसने ĤǓतपाǑदत ͩकया ? 
    (iv)    Give the definition of Plasmid. 
            ÜलािÏमड कȧ पǐरभाषा दȣिजये |   

 
Section-B 

(Short Answer Questions)  
लघु उ°र वाले ÿĳ  

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 
question carries 4 marks.                                                                              
नोट: िनÌनिलिखत म¤ से िकÆहé 02 ÿĳŌ के उ°र दीिजए| आप अपने उ°र को अिधकतम 200 शÊदŌ म¤ 

पåरसीिमत कìिजये| ÿÂयेक ÿĳ 4 अंकŌ का है|                                                        2x4=08 

2. Write a note on Universal Law of Gravitation. 
    गुǽ×वाकष[ण के साव[ǒğक Ǔनयम पर ǑटÜपणी ͧलͨखये | 
3. What is Common Ion Effect? 
    सम आयन Ĥभाव Èया है ? 
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4. Differentiate between Plant and Animal Cells. 
    पादप एवं Ĥाणी कोͧशका मɅ ͪवभेद ͩकजीये |  
5. Define Genetic Engineering. 
    जीन अͧभयािÛğकȧ को पǐरभाͪषत करɅ|  

 
Section ‘C’ 

(Long Answer Questions)  
(दीघª उ°र वाले  ÿĳ) 

Note: Answer any one question. You have to delimit your each 
answer maximum up to 800 words. Each question carries 08 marks. 
नोट : िनÌनिलिखत म¤ से िकसी 01 ÿĳ का उ°र दीिजए|आपको  अपने ÿÂयेक उ°र को 

अिधकतम 800 शÊदŌ म¤ पåरसीिमत करना है| ÿÂयेक ÿĳ 08 अंकŌ का है| 
1x8=08 

6.  What is Intellectual Property Right? Describe the concept of Patent. 
बौɮͬधक सàपदा अͬधकार Èया है ? पेटɅट ͪवचारधारा का वण[न ͩकजीये | 

7.   Explain the Nuclear Fission and Nuclear Chain Reaction. 
   नाͧभकȧय ͪवखÖडन एवं नाͧभकȧय Įृंखला अͧभͩĐया को समझाइये |          

 
Elementary Mathematics-  

(Ĥारंͧभक गͨणत)-EMT 
                                                                                        Max Marks: 20 

Note: The Internal Assignment has been divided into three sections A, B, and C. 
Write Answer as per the given instruction. 
आतंåरक मूÐयांकन हतेु  ÿĳ पý ‘A’,’B’ और ‘C’ तीन खÁडŌ म¤ िवभािजत ह|ै ÿÂयेक खÁड के 
िनद¥शानुसार ÿĳŌ का उ°र दीिजए|     

Section-A 
(Very Short Answer Type Questions) 

 अित लघु  ऊ°र वाले ÿĳ (अिनवायª) 
 
Note: Answer all questions. As per the nature of the question you delimit your 
answer in one word, one sentence or maximum up to 30 words. Each question carries 
1mark.                   4x1=04      
 
नोट: सभी ÿĳŌ का उ°र दीिजए| आप अपने उ°र को ÿĳानुसार एक शÊद , एक वा³य या अिधकतम 
30 शÊदŌ म¤ पåरसीिमत कìिजये| ÿÂयेक ÿĳ 1 अंक का है|                                                   4x1=04 
 
 



BAP Assignment 2014 
 

VMOU, KOTA Page 7 
 

 1.   24 और 36 का HCF ²ात कìिजये। 
         Find the HCF of 24 & 36.  
2.   हल कìिजये 5.25     
           Solve    5.25     
3.   बहòलक को पåरभािषत कìिजए। 
          Define the mode. 

4.   मान ²ात कìिजये  (64)ଵ/ଷ 

           Find the value of  (64)ଵ/ଷ. 
 

Section-B (Short Answer Questions) 
लघु उ°र वाले ÿĳ  

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 
question carries 4 marks.                                                                                          2x4=08 
 
नोट: िनÌनिलिखत म¤ से िकÆहé 02 ÿĳŌ के उ°र दीिजए| आप अपने उ°र को अिधकतम 200 शÊदŌ म¤ 
पåरसीिमत कìिजये| ÿÂयेक ÿĳ 4 अंकŌ का है|                                                             2x4=08 
 

5.    िनÌनिलिखत समीकरण िनकाय को हल कर¤ :— 
ݔ  − ݕ = ݔ; 10 − ݕ2 = 7  

         Solve the following system of equations:-                                                                                 
ݔ              − ݕ = ݔ; 10 − ݕ2 = 7  
6.    यिद एक आयताकार िखड़कì का ±ैýफल 15 वगªमीटर ह ैऔर उसकì ऊंचाई 5 मीटर ह ैतो चौड़ाई  

²ात  कìिजये। 
If area of a rectangular window is 15 m2 & whose height is 5 meter then 
find it’s width. 

7.    तकाªतभतू गिणतवाद और आकाåरक गिणतवाद कì तलुना कìिजए। 
          Compare between Logicism & Formalism. 
8.   150 मीटर लÌबे Èलेटफामª को, 70 मीटर लÌबी एक रेलगाड़ी 50 िकमी ÿित घं टे स ेपार करती ह।ै  

बताइये  रेलगाड़ी िकतन ेसमय म¤ Èलेटफामª को पार करेगी? 
A 70 meter long train cross 150 meter long platform with speed 50 
Km/Hours. Find the time in which train cross the platform. 

 
Section C  

(Long Answer Questions) 
(दीघª उ°र वाले  ÿĳ) 

Note: Answer any one question. You have to delimit your each answer 
maximum up to 800 words. Each question carries 08 marks. 
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नोट : िनÌनिलिखत म¤ से िकसी 01 ÿĳ का उ°र दीिजए|आपको  अपने ÿÂयेक उ°र को अिधकतम 800 शÊदŌ 

म¤ पåरसीिमत करना ह|ै ÿÂयेक ÿĳ 08 अंकŌ का है| 
1x8=08 

9.    िनÌनिलिखत आवंिटत द° के िलए ÿमाप िवचलन ²ात कìिजए — 
          Find standard deviation from following data – 
 

0-10 10-20 20-30 30-40 40-50 50-60  
2 4 5 9 6 4 N=30 

 
10.    A अकेला एक खेत को 15 िदनŌ म¤ जोत सकता ह।ै जबिक B अकेला उसी 
खेत को 12 िदनŌ म¤ जोत   सकता ह।ै यिद A अकेला उस खेत को जोतना शłु 
करता ह,ै और कुछ िदनŌ बाद B भी उसके साथ काम पर लग जाता है तो खेत 

2
17  

िदनŌ म¤ जुत जाता ह।ै बताइये A और B ने िकतने िदन िमलकर काम िकया? 
 
A alone can yoke a agriculture land in 15 days & B A alone can yoke 
a agriculture land   in 12 days. If A alone yoke this land & after few 
days A & B yoke the land then they completely yoke that land in 

2
17  

days. How many days A & B work together? 
 


